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Anywer all quesilons . e
Fach guextion &y followed by Tour aptiony A fo D, Fimd oul the mrrﬂq: u_nm{r:r :; ar a5 the opHinm ye,
shade in pencil on your auswer sheet the guswer space which bhears .H"' A :rm;: o

have chosen. Give only ene answer (o each guextion. An example s given Deiow.

What is the smallest number which is divisible by 16 and 207

A 850

B. 40

C. 120 |
2 wer space A worild bt shaded. 5

D. 160
Ihe correct answer iy 80, which is letiered A audd ih erefore ai
C. —B = . e
are you shade the answer spaces, Frase completely an answer you wish 0 change.

A
Thin, I
e all rengch work on this question paper. Now answer the Sollowinge questions.
_ =17 6,7.8.9,10,11,12),
If U=[1,2,3.45 11,12),

7.
A = [odd numbers), F' = prime n
List the members of A N P

1L rian rﬁgﬁqﬁl.m{:r ment of
[tnangle A2 with scale factor 2. If the ~
AT A =36 e, find the area of ADE.

A. 6,9, 12)
Z (6,9, 12 |5
E. {{3, 6, 5} }
% D 3,9, 12, 15}
- nl:ing}r subsets are ip s Q2
).

16
20
di o
adie is thrown, whap js the probability

that it wi .

A,
B
C

D
1

A, L
g.

A

oy 2
3

DX {3

If one shane i

% ] 1 enl A v

AG hm :“’agﬁhﬂpﬁ mﬁﬂtnf

B.  cong

C. opposite |

D.  similar

b
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sl ‘helow are similar e m“#% M‘qﬁ]\h .
,‘P;ﬂpﬂrtiun fior Pictevw 10s :
-'_ .:._I:_ "IIJL':. 5
2 e i, """ = v U
J\. ﬁ{! 2] B(4, 1] EEZ 2)
@ ﬂtﬂin;ﬂgl 3
5 'l 3 1y {q 2
(& "" 6, . E'ﬁ] then Set Das i : All, 1), B(2.2), C(3, 4}
R firits set 23, Whgl 1s the coordinate of the the
-ﬂﬂﬂmptysel. vertices of A\BiC after the triangle
D. ﬂéﬁ]lsjﬂlnt sel ABC 15 translaied by the veclor {_31)
sadthe bearing of P rﬁ.‘rl‘ﬂ bel A. A0, 3), Bi(1,7), Ci(3, 5
i 335° SV B. A2 T
Dﬁsﬁ ¥ e N

-1), By(3, 1), Ci(4,-1)
155 i :

21]5"‘

has a chﬂn:c of occurmng.

nlikely to oceur. A-1,2),B
0, ::l?l HE‘-’JCIEGLII ﬁl{ t Tj.,'B:{-i, #}. !.(-4"
Fin thetmlh set of the equatig™ D, As-2, 1), Bi(4,2), Ca(-2,4)
:+3 B3—x ' 25. - AfA=[xy.2), then the nﬂmhntuf
i 2{ 9 subsets :‘n the pnwerscl; uf Ais
A.
B. 3
I:IZ H 1 i o %g
Th facirclei _Find D. 4]
 ibickan e m:l:':ln B AR 26. A ball is drawn from a bag conlaining
5 mem ‘ 7 red, 3 white, ami 6 blue balls. The
:h wcm pruhah.'.ht}r that it is a red ball 1s
2'3 xcm i A
cm = i
he coordinate plane below shows 4 B. E
! ;f = C. 16
_ - . =g il E'_E_I_
==} A ). i
= e - Turn oV



e -7
D. 7

31. Find the sum of all the even nurmibérs
between 70 and 80.

A, 200
B. 223 107
C. 230
D. 300

32.  Atwhat price will a shopper buy a

I2kg sugar that sells Ghg 20/kg when a
10% VAT is added?
A.  Ghg 240

aumber of Tines of

35. Determine the BUTC e below.

symmetry for
e
. 2
i 3
P - lmgcmtnlis
Hgﬁéﬁhﬁﬂﬁ;h the imagels
A, smaller.
- SRRy IHI'HH, A
P the same size,
A‘;“amhmﬂﬂﬁmw ite the rule for
= e LWl
iranslation of ALMN 10 A L'M'N
—— 1 | AY I

Ao (0y) = (x+5y-2)
B. (.¥) = (x+7,y+2)
C. (x,¥) = (x+2,¥+5)
D. (. y) = (x=5¥y+2)

38.  Point D(=5, —6) was transformed int

Pomt D, (—8,4). Which transformatio
took place?
A. Translation of 3 left and 2 dow
B. Translation of 3 right and 2 up
825 Translation of 3 left and 10 up
D. Reflection over the x-axis

39.  Ifthe image of x under the mapping
X _..gx+3is3.ﬁr_ldx

A.
B. 3
Ct ﬂ
T T
. I'a square has sides 3.5 m long and
- image under an enlargement has sid
Jong, what is the scale factor for the
enlargement? .
a4
‘B. 16
49
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PAPER 2

Essay
Answer four (quUEsHORS nnlg,-}c
] ; ual marks
All questions carry & e

Al workings must be clearly shown, Marks will not he awarded for correct o
corresponding wrarkin.

I (a) In a survey of 120 people, Etornam found that 70 people liked Product A, 80 liked

Product B and 50 liked both Product A and product B,

(i Draw a Venn diagram to represent the information.
(n How many liked product A or B?

{ih How many liked product A but not B?

' i\r; How many didn't like either?

(b)  Timothy has 12 cards, each with a letter on it
I#ln_.lr b |e I:It m aTt h|s |
le pi card at mandom. Calculate the probability that the chosen cafl is -

-y

(d)  Value Added Tax of 15% was charged on an item that costs Gh¢200.
(i)  Calculate the VAT amount.
(i)  Calculate the VAT inclusive price.

@ (a) (i)  Using a scale of 2cm to 2 units on both axes, draw on th
_ perpendicular axes OX and OY. ] n the same graph sheet two
@) :;::t the 'Ila"::tsrf! E:h-ﬂzjﬁ B(8, -2), €(10,-4) and D(4, -4). Join the points to form

gu.; Give the name of the %ua-ndﬁl%teral formed.
v raw the image Ai1B1C1D of the quadrilateral ABCD :
degrees about the origin where A= A1, BB, C> Cli“n‘ﬂ”nﬂgrﬁtat%n_nf 180
the coordinates of A1, By, C1, and Di 1. Write down

(v)  Translate the quadrilateral ABCD by the vector (~2) where A Az, BB,
C=> C:and D=>Dz. Write down the coordinates of A, B2, C2, D2, ‘

(b)  Martha is a waiter at a restaurant and is paid Gh¢19.00
Spm to 10pm on a certain day, calculate Marthaf‘s total E:; l;g;u ti':g sdl;;#ﬂrks from

(¢) A triangular spinner has sections coloured white (W :
20 fimes fnd the color it ands on each fams wos socardg o e, oiue (B). Itis spun

Wer Wa'B GG Wob 6 G We

G B 6B6 WeG B~G B
Draw a relative frequency table for the experiment.
Find the coordinates of the image of:

i Q(1, 4) when it is rotated through 180° about the orio:
{ i o, . A -
(1) R (4,5) when it is rotated through 90° amiclmkwisgggnut the origin




;:,Iiv i -:'_fﬂllﬂ A and B are two sets, n(l) = 37,

._,e:;_

(b)

his pocket. If e 1) GHE 50,00,

I d 1y uﬂhtlﬂff' . ' _!:..- H _.. -I.-\.--,._-hl_-._ ks L .‘;-.. i
GHg 80.00 cach. How mapy ¢ THg 20.00 - .00
(b)  The figure below jg coMMBinaian

LI

L o L L e L
=

Sem 1:: m 1"'»l‘~!!'l| iy 4
() Find the perimeter of the figure. A,
(i)  Find mEfm.ﬁFﬂw figure [Take =If |

n(4) = 22,n(4 n By =

(i) Draw a Venn diagram below to show the number of e ements in each

(1) Find
(@) n(A n By
(Byn(a' u gy
Given that p = (:::;), =) andp - q = (3), find the value of (x +v).

A group of high schoo
Music club. The resull

| students'wire asked whether they were

in the Drama club or
S are summarized in the following

Venn diagram.

w AN
Ly

(i)  Describe what each region in the Venn dmgrmn b .
*‘3}} How ;ysmdm‘.sr:rgrc in only one of the twnﬂubg‘?’% | '#‘ - \
E“;j How Mﬂﬂ}'ﬂm&ﬂnﬂ were in the drama club or the music ¢l -.'_ -

(iv)  How many students were surveyed?

In the diagram below, ABC and EDC are straight lines. £ is parallel to 2

EC =8¢m,DC=5cmand DB = 2 cm,

Sod. - Calculate the length of AE.
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(c) Lordina carries out a survey about the number of imes students 2o to 8 I?Mk:i’:?p:l-?l".k
asks at random 100 customers how many times they wenl 1o the shop Iast mantii o he

table below shows Lordina’s resulis. " | :
Numberoftimes (|01 [2 (3 |4 [5 |6 | Morethan6

Frequency a2 lzs|ialngs
(1) Using a scale o 2 cm: 2 units on the y-axis, draw a bar chart to represent the
information,

(1) Ifone of the 100 customers is chosen at random, what 15 the probability thal
this customer went to the shop 5 times or more?

(d) A stove costs Ghg2500. VAT 0f 15% is to be added to the cost pnice. Calculate
(1) the VAT amount;

(1) the selling price of the stove..

ﬁ- (&) The income tax in a certain region of the world depends on how much is carned that
:gl!lrn.': fqiln:-gs: B‘H.un Eh.’: ﬁ_rs;_ Ghg 14500 earned and 10% on the remaining income
’ d If salary is Ghg 52,000 calculate how much income tax she will pay.

m@sy:im?:sthat of his father |f the sum of their apges is 90

| %:_‘1.“” ib;g;?wﬁebankgivcsamtu
uld be abl, thdraw afier the period.

. {?mtively. It Joana had



